C J’+3x—?=0

(11) Slope of the line that passes through the poin

(d) y+3x+7=0

ts (=2.3) and (2,7) is

(@ 7
(b) 3
ot L
(d) 1
(12) Slope of the perpendicular line to. p =—3x +2 is
- 1
Gl s ®) -5
R |
8. ; 0 -
(13) Equation of the line that passes through the points (0,0) and (1,6) is
@ y=6(x-1) &) 2 =%
() »=6x-I (d) »=6x
, (14) Equation of the vertical line that passes through the point (7,—7) is
@ x=-z ®) x=r

(15) If graph of the function f (x) =xi2 is shifted downward by a distance 4 units,
then the new graph can be represented by

1

(b)

(d) —=~4
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ulator 1s NOT allowed

(@) (-4-NU(5]
(¢ JU(2.5]
(2y Solution of the ineg / §
[a | ]
|l.=)

(a (2.5]
{c) (2 5 )
(4) Solution of the inequality x*—-7x +620
i | = [6,20)
- S W
(C) (==, 1 000
(5) The solutions of [2x +5 are
(8) x=2 and 7
ic) I ond x 7
(6O) The n‘il“.IIIF]-\ sclol |2y +5=Y I8

be the following shaded regions

g

i 00
) (4-NHU1L5}
(d) [ 4 | 2 5)
(b} (===.1)

j E_ 5)
- 1

) "l
|

I.'c_"“I

r ’ {
W) X 7and x =21 | f

(dy = 7 and x =-2 s g4 '
S TV Y b . |

(b)) (== =TWH2 =)

“” f-u "IIIEr o0 |

L T | 1] |

(d) A




(a)y cos{35") (b) Sin|3f‘”}

(¢) 4 cos{25°) - — _“‘“ ‘ii“{:‘--‘-'“‘

S — e e i s e —
sin” (75" |+ cos™|75")

w-a'x'l 507
(a) sin{30°)\ (b cos{50°)

(c) cscl50°) (dy sec{50")

(33) If tan(f)=—. where —=0 =7, then sin(f) =
_‘\

=

b=

1 -3
Y10 V10
(C) '\-I'“ {d} __'\._Iliil
3 e,
Best Wishes
I.
| RAA T Vb HEUEERI Foaing T av'y Vgt U R TR










e ——————— ' i |

(16) Domain of the function fx) x? -

Y
; (h) R-=i{=%7
. i -\.'||
()R- -4 -
1
' n R-1-5.5] I

- - 1 I I o . P . i 111 *Il h\
(17) ¢ f(x)=—p===, thenthe domam of f {x) 1S SIVERE
vEx 2 | 5 =
Lo 3% (b) (-=-3)
X/ (n) h. ac
' d 0.3) S =
(=] {: i ) "'—_:-—1_!__— e
P W L
18 i
18) Domain of the following function J (¥ )=7 =T,
(@ R-{4] ©F [0°)-i%
(<) i : 'I':' {d' [ r.“___ 4__ ———
L (19) If fix)Ex? and g(x)§2x) then (fog )x )=
(a) ¥ 4+2x (b) 2x°
(c) P i 3 4x°
20) The function f(x)=2x"-4x is
(a7 an odd function. (b)Y aneven and odd function.
(¢) aneven function. : ‘.E}’_f"‘:!m"' even nor odd function,
{21} The function [fix)=smix)+x is
(a) neither even nor odd function (b) aneven funclion,
(c) an even and odd function oo an odd fungtion.
(22) The trigonometric function cos(#) is
Nl
{a)  non-gymmetric (o) symmetric aboul y-axis,
| {e) _symmetric aboul x-axis. (d) _symmetric about the origin. |
| { 23) vihd: X 1 |
! |
it Jix) then 1 (1)
\ L i i
i
| fal 1 II"f ]
| {g! ) (d) 6\
‘ MATH 1M {419 4403 Fahin 1 o0y Page 38 U Mk D i)
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and subtended angie is (#) = 1.3 rad,
-—*__'
then the arc (a) =

2#\;3

{a) 24c¢m

¢ 28cm
(28) |an(150°)|=




(d y+3x+7=0

11) sI i
( ) Ope of the line that passes through the points (=2.,3) and (2,7) is

(b) 3

e @
4 _ (12) Slope of the perpendicular line to. p =—3x +2 is
(@ 1 :

GA 2 =2

1

A _l_ 1
W @ -3
(13) Equation of the line that passes through the points (0,0) and (1,6) is
@ y=6(x-1) b) »=x
() »=6x-I Gy =6x

(14) Equation of the vertical line that passes through the point (7,—7) is

@ x=-z ® x=z

J _@) L (di ¥ =%
ﬁl 5) If graph of the function f (x)=— is shifted downward by a distance 4 units,
then the new graph can be represented by

(#_ 4)2
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e
Friy
]

(e
I

IL—;‘ﬂ'mai ;
N of the Sreateg it ___ S |
| ta the ; 5 fmnction 3 \
: inte
al Pt I?‘ 1
. (c) the v ) the real numbers. w
| o e |
. _..6) 549 - —— (d) the natural numbers. |
. & = |
|| (a) 7 l'.
| : 10 |I
) i '
(= Wl e @ |
WG4 ey 10 '|
: | . .
][ (~7) From the graph, if the radius (r) =2 cm |
| and subtended angleis (#)=1.5 rad.
|
|| then the arc (a) =
|i
| (a) 24cm (b) 2.6cm
il (c) 28cm . 3 cm
| (28 feot(150°)|=
( |
| 5 b =
| (a) V3 (b) V3
3 2
| (29) sec(60°)xcot(45°) =
1 1
@ 3 (b) N
, (C) 2 (d] \.5
(30) ese’x —cot’x =
(a) sin’x st
e cos’ (d) -1




(b) (-4.-1)U[2.5]

()

@ [-4.-1)U[2.5)
(2) Solution of the inequality 4x +7<11 is

@ (1) b) (-==1)

© [L9) @ (=]

(3) Solution is the inequality 3<2x —1< 9 is

@ (23] (b) [2.5)

(©) (25) @ [25]

(4) Solution of the inequality x 2_5x+6=20 is

(&) (==1]U[6:%) o) (-,2]U[3.0)

© (=)U6E) @ (©2)UG)

(5) The solutions of [2x +5|=9 are

(b) x=—7 and x =—2

_ﬂl x =-7 and x =2

am——) (-7.2)
@ [-7.2]

() (-7.2)
@ [-7.2]




(a)

(c)

If fitx
: J(x ):_?E____i_?. then 1 (d) R-{-s5,5]
a) (~<0,-3) Vx =5 the domain of ) s cven L —
) (=o3) (b) (5.)
.. = ——
A =i (d) (-5.=
, Domain of the fi ; — { ) e e
= ﬂElm.a,mg finciion’ fiixs— N
{8)  (—o,07-{-11 &
- (b)y ® -]
(©)  [0=)-{1}

(19) If fix)=x? (@ R-{-Y
) If f(x)=x" and g{x)=3x, then (fog)lx)= Sl

(a) 9x = (b) 3x*+x
(c) 3x°? i (d) x - +3x
(20) The function [f(x)= x> =5x+1 is X _
(a) an odd function. (b)
(c)

an even function.

(21) The function [ (x )=sin

(x)+x 18

an even and odd function.

| (22) The trigonome

neither even nor odd function. n

tric function cos(?) is

an even and odd function.

(d) neither even nor odd function.

(b)

an odd function.

(d) _aneven function._

(a)  symmetric about x-axis. (b) symmetric about the origin.
! \ -
| (¢) _symmetric about y-axis. ___Lt_i_]_____11211_15_1;11113u_1_[_1_c._

x242; x 2-1

, then [ (1)

x=3% X< -1

If f(xl:-‘

(a) 3 b) 4
st___,s_f_____._f—;_ﬁ_#__#_ _____ (d) ©

© Math, Dept. @)




If fe)=_1

( T the I {d] B- Ll_SrS}
a) . e I the domai ol ’ E——
\~<o; =) main of 7 (x) is given by
‘ (h) 3
__L_J__ (‘"-"-.‘_'*j (5.20)
(18) B e - (d) (~5,00)
main of the f : A0 —
| of the h'.‘“n\.%,']ng function f(x)= X .
3 ) | . L
(a) {l—-.'_;:‘(']_‘__l__-l‘_
: | \ (b) R “'Ia.lli
W) | 0.2c) {1}
i i i i { |
(19) If f(x)=x* S
f{x)=x* and g(x)=3x, then (fog)(x)=
) Ox - (b) 3x*+x
(c) 3x3 : {d‘;_ x*+3x
(20) The function f(x)=x"-5x"+1 is
(a) an odd function. (b)
(c)

an even function.

| (21) The function f(x)=sin

(x)+x 18
(a) an even and odd function.

(c)

| (22) The trigonometric function cos(€) 18
(a) symmetric about x-axIs.
| - o

| (c) gymmetric about p-axis.

__symmetric abolt SIS
(23) (x242; x2-1
i J (x)=1 , then [ (1)
_ ‘x -3 x<-l
) 3

——

neither even nor odd function. n

(b)

an even and odd function.

4) neither even nor odd function.

an odd function.

(d) an even function.

@)  symmetric about the origin.

© Math, Dept. @)




e
Friy
]

(e
I

the real numbers.

———  (d) the natural numbers.

(c) i 2
Il %bem
- (26) 540 s
ii'_
10 (b)
_,E_::*_
= SEMUIINS & sis o
From the graph, if the radius (r) =2 cm
and subtended angleis (€)= 1.5 rad,
then the arc ( a)=
24 cm (b)
2.8 em (d)
|cot(150°)[=
5 (b)
A (d)
2
sec [6(’}“ )xcot(flS” ] =
o (b)
2
5 (d)
(30) cse’x —cot’x =
sin” x &

cos” X @

1[“

<
)

P 0

o

]
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Calculator 18 NOT allowed

. } e X Ly I a T - . .
(1)  Choose the intervals that describe the following shaded regions

s - .

D0 e — : 5

=

(2y Solution of the inequality 4x + /211 15

(a) | ) b [~ 1) .
() [L=) (d) (-=.1] .
(3) Solution s the mequality 3<2Zx -1 918 .
(a) (2.5] b) [2.5)

— |
(c) (2.5) d) [2.5]
(4) Solution of the inequality x°-7x +620 :

(a) [-so,1]U[6;%0) (b) (—=.2]U[3,%=) |
i o ]

il e A

(¢) [==.1JL{6,20) (d) {(—=.2}U{3. =)

(5} The solutions of |2y +5/=9 are

\1 i , . g . -
(a) x=ZLandzx ! |‘_|_h:| X and x =2 |

¥ I - o a o ————g.
icl X 2 and x T id) " 7 and x ==2
(6) The solution's set of |2y +51< 9 is
(@) (=2.2) (W) (=m=T)U{2 =)

(¢) [-7.2] () '_-_.']"[_3 " |

{(7) The solution's set of [2v + ~'«| 0 |& |
1

&) (=1.2) (b) (===THN%=) !

@ _[7.2] / () T2 |




GO UCL B3 VNS & A Y1 e

(© [=4-1]u(2s] (d)

(b) (-4.-1)U[2.5]

[-4,-1)U[2.5)

(2) Solution of the inequality 4x +7<11 is
o (L) (b)
© [L=) 9

(~.1)
(-0.1]

"(3) Solution is the inequality 3 < 2x —1<9 is
@ (23] ()

© @3 @

2.5

[2.5]

(4) Solution of the inequality x 2_5x+6=20 is
(@) (~=1]U[6.) (b)
© (-=1)U(6%) (d)

(—0,2] U[3, )
(—0,2)U(3, )

(5) “The solutions of [2x +5{=9 are

(b)
(d)

x=—7 and x =—2

x=-7 and x =2

(b)
(d)

(-1.2)
[-7.2]

(b)
(d)

(-7.2)
[-7.2]




